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1) (10 pTS.) Let A, B be events with Pr{A} = .2, Pr[B] = .6, and Pr[AN B] = .1. Find Pr[A|B].
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2) (10 pTS.) Let A, B be events with Pr[A] = .2, Pr[B] = .6, and Pr[AN B] =.1. Find Pr|[B|A].
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4) (10 pTSs.) Let A, B be events with Pr[A] = .2, Pr[B] = .6, and Pr[An B] = .1. Find Pr[B’|A].
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4) (10 p1s.) There are 7 men and 3 women in a room. Two of these 10 people are selected at random. If both
people selected are of the same sex, then what is the probability that both are women?
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5) (10 TS.) There are 7 men and 3 women in a room. Two of these 10 people are selected at random. If it is
known that at least one women was selected, then what is the probability that both are women? '
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